INSTALLATION INSTRUCTION

MONTERINGSANSVISNING
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

ASENNUSOHJE

DATE: 4.2.2013

S LAPPSET.
PARKOUR
Q05292

48
) AvaY
NEABILAN,

NAINL
\A,

O

O

O

p}1 dnous jesddp yybrhdon



% LAPPSET.

Q05292

1(1)

PARKOUR
DATE: 4.2.2013
703460 |pcs 901991 PCS 902022 |pcs 902134 |pcs 902157 |pcs 902424 |pcs
17 3 1 67 170 25
il e
= L 1493 L 710 = 60x60x2 L 1034
904015 |pcs 904032 |pcs 904100 |pcs 904102 |pcs 904130 |pcs 904132 |pcs
12 12 44 5 1 6
244.5x1034 L 2278 44,5—-60.3 @44.5x2148 L 2148 L 402
904389 |pcs PCS PCS PCS PCS PCS
2
L 2148
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
pe} I I I I I I
]
§ PCS PCS PCS PCS PCS PCS
5 il il il il il il
*«m‘) I I I I I —
Q|
Q.
S
5
5 I I I I I —
8
O




Copyright Lappset Group Ltd

% LAPPSET.

PARKOUR

Q05292

DATE: 4.2.2013

EN Impact Area 51.2 m2

Grid Size' = 1000* mm

1110

1:75

1110 790 1110 110

1110

1110

X X X
&gﬁ
X X X

2220

X X X

&%E




4

4.2.2013

.
.

Q05292

DATE

% LAPPSET.

PARKOUR

(\)

p3}1 dnoug jesddp yybrkdon



Copyright Lappset Group Ltd

% LAPPSET.

Q05292

DATE: 4.2.2013
_— EN Impact Area 51.2 m2
————  Falling Space 50.8 m2 —%—
Max Falling Height 3000 mm 0
5420
/] \
7 o
e o .
s n N
/ N N
(/ \\\
: o—0 o—° o 51500
|
o I | o
2 - 190 o 0 C—0—0) 2
N N
|
! I I

8440




Copyright Lappset Group Ltd

% LAPPSET.

PARKOUR

Q05292

DATE:

4.2.2013

SA

+3070
o ) | 5 +2530
. )L +1740
v 7/ A
| | & . : +960
[ Q QO (/—\:[ +0
([[
Q Q )




4.2.2013

Q05292

DATE:

% LAPPSET.

PARKOUR

DET 1, 2, 3, 4

(=) o
o | A

M\V\\WW%\ VA X

U | S5
_ @% -\ SNA

A

DET 5, 6

p3}1 dnoug jesddp jybrkdon



Copyright Lappset Group Ltd

% LAPPSET.

PARKOUR

Q05292

DATE: 4.2.2013
DET 1 DET 2 DET 3
901994 M12x90 M12x90
so1994 ] o
| o & o |

EEEEEEEE

901994

P

902157

DET 5
M12x120

DET 6

M12x120




8 LAPPSET. Q05292 TOWER A

PARKOUR 7

DATE: 4.2.2013
904389 904102
X3

904015
x6

901991
X3

902424
x14

Copyright Lappset Group Ltd




8 LAPPSET. Q05292 TOWER A

PARKOUR DATE: 4.2.2013 7 a

@ 1:50

+2990

+2530
+1740
+960
+0 _ = = +0

o

(@]

©

i, . N AT i N = N = N

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

PARKOUR

Q05292

DATE:

4.2.2013

TOWER B

7b

703460
x8

\

D

904015
x6

A ‘ 904102
X2

904130

T 902424
x11

o T

B
7
AT

902157
x78




Copyright Lappset Group Ltd

% LAPPSET.

PARKOUR

DATE:

Q05292

4.2.2013

TOWER B

7c

®)

1:50

+2990
o
+2530
+1740
+960
+170
" +0
o
o
(o]
q AT A AT AT P
o
——————
I N P N = = S




DATE: 4.2.2013

Q05292

% LAPPSET.

PARKOUR

RS, || 4

_ AV

N N

s

p3}1 dnoug jesddp jybrkdon



8% LAPPSET.

Impact Area EN 1176 REF:

Copyright Lappset Group Ltd

DATE: 20.2.2018

4x

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y i

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

T Ay vy 454 a4 B <4 s a4

saa 0300 237 439 40 eml e Ly
AR 44. .44 24 i

Mmi%
h <3000 Loose fill material
E.g. e T
sand/gravel 0,25...8 mm D60/D10<3,0 | = o ]
Woodchips 5...30 mm : ae Ol
bark 20...80 mm < . ) :
e PR S R
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m RS I Al //ﬁ‘
60 mm ~> 1,8...2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m P S

Note. For accurate values, see
manufacturer’'s instructions.



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


% LAPPSET.

EN 1176 FOUNDATION

REF:
DATE:

20.2.2018

REMOVE SAFETY SURFACE /SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

703460

CLOXX DATE:  31.5.2010 1(1)
(1) 904034 |pes|(2) 909519 |pcs|
1]
@60x663 | | 50x380x380 | |
5 () 909637 |pes|(3) 909638 |pcs|
o 4] 4]
IS\
=
- =
— Mo | | @20/10,5 | |
(5) 909639 |pes| Ps|
] 4] ||
DET 2 - |
M10x25
— = =
PCS PCS
PCS PCS
DET 1 DET 2
M10x25
ﬁ
909519
Z LA 44 L o ///4// 7\
///m //////j////// ////;/ //5/////8 Z
7 ” /:// 7 Z /j/ 5 ///ZQL ”
ARV SN M = 920/10.5
RN //////'_'\/////F///Q% @ﬁ
— |
A %= MIO




% LAPPSET. 902134

CLOXX DATE:  3.5.2013 1(2)

Copyright Lappset Group Ltd

(1) 901803 |pcs|(2) 901994 |pes

DET 1, 2, 3, 4, 5, 6, (8) ®/

M12x90 2190
(3) 902096 |pes|(a) 902234 [pes
DET 8 @/ 4 | 6]
— M12x120 | | M2 | |

X

L\ @ L R

DO NOT TIGHTEN THE ] ]
JOINTS UNTIL THE T ]
STRUCTURE IS COMPLETE.




% LAPPSET.

902134

CLOXX DATE: 3.5.2013 2(2)
DET 1 DET 2 DET 3
FIRST BOLT
~ FIRST BOLT INSTALLATION
— 1% ( 3 INSTALLATION TMOX‘ SONm.
\ Max. 20Nm.
T
LAMINATE OR WQOD ’\/H 2><9©
(901803)
M12
(902234) (902234)
DET 4 DET 5 DET 6

901994

901994

Max. 20Nm.
M12x120
( )

FIRST
BOLT
INSTALLATION

Max. 20Nm.

MT2
(902234)

M12x120

REMEMBER
FINAL
TIGHTENING

902096 (902096)
DET 7 902157 or DET 8 902157 or

904747 904747

FREE HOLE FREE HOLE

Copyright 1998 Lappset Group Ltd






